BHARAT COKING COAL LIMITED SIJUA AREA.

Ref. No : GM/SA/Plg./3624/2011

Dated : 12.10.2011

NOTICE INVITING TENDER

Sealed Tenders on percentage rate basis in two parts (Part-I & Part-II) are hereby invited from experienced and eligible contractors for the following work :-

Sl. No.	Name of work & Location	Estimated Cost	Earnest Money	Cost of Tender paper	Time of Completion
		(in Rs.)	(in Rs.)	(in Rs.)	
1	Making retaining wall and side support at travelling roadway 22L(E) VIII(A) seam under Mudidih Colliery.	1,68,572.05	1686.00	100.00	One Month
2	Construction of 11 nos. of ventilation stoppings at PST-2 seam Tetulmari Colliery.	1,82,264.00	1823.00	100.00	One Month

The Tender will be received separately in two sealed covers in Part-I and Part –II on 28.10.2011 from 10:00 a.m. to 3:00 p.m. in Tender Box kept at :-

- i) Office of the undersigned.
- ii) Office of CISF, Post Sijua Area.
- iii) Office of CISF Post, near Koyla Bhawan gate, Koyla Nagar, Dhanbad.
- (a) Part –I i.e. Technical/Commercial Bid should contain the proof of credentials, earnest money deposit, Sale Tax Clearance Certificate/VAT & PAN. The Part –I will be opened on 01.11.2011 at 3:30 P.M. in the office of AGM, Sijua Area in presence of the tenders or their authorized representatives.
 - (b) Part –II i.e. Price Bid, containing the Tender Documents issued to the tenderers rate will be furnished in figure and words will be opened by the Tender Committee only on acceptance of the Part –I Bid.
- [2] The Tender paper can be had from the office of the undersigned on written request on any working day from 22.10.2011 to 25.10.2011 on payment of requisite cost as indicate above to be deposited in cash with associate finance at Sijua Area.

ELIGIBILITY CRITERIA:

The intending tenderers must have in the name, experience and having successfully completed similar works during last (Seven) years ending, last day of month previous to the one in which Bid Application are invited i.e. eligibility period should be other of the following :-

(a) Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.

OR

(b) Two similar completed work each costing not less than amount equal to 50% of the estimated cost.

Contd...pg/2

(c) One similar completed work costing not less than the amount equal to 80% of the estimated cost.

N.B : Similar completed works means :- For sl.no.1 retaining /side wall and sl.no.2 ventilation stoppings in underground mines.

- 3) The tenderers must have average annual financial turn over civil works during last three years ending 31st March of previous financial year i.e. in 2008-09, 2009-10 & 2010-11 should be least 30% of the estimated cost.
- 4) Rate to be quoted in % above/below of the estimated cost both in figure and words in BCCL prescribed forms issued to tenderers.
- 5) The contractor have to acquainted with the side condition.
- 6) All Taxes as applicable will be born by the Contractor.
- 7) The tenderers have to submit their name of Bank, name of Branch & Bank A/c number.
- 8) The Earnest Money to be deposited in cash with associated finance at Sijua Area or in the form of Demand Draft only in favour of Bharat Coking Coal Ltd., DHANBAD, Earnest Money bears no interest and may be refund only to the unsuccessful tenderers in due course on completion of formalities.
- 9) Tenderers have to fully acquaint and satisfy themselves with the NIT & side conditions, drawing, estimates etc. before submitting their tenders.
- 10) All other terms and conditions of general NIT Rules of BCCL and/or other authorities/statutory bodies as applicable from time to time.
- 11) Validity of Tender shall be 120 days from the date of opening of the Price Bid or revised Bid if any.
- 12) The management of BCCL reserves the right to reject any or all the tenderers without assigning any reasons what-so-ever or to split up and distribute the work amongst the tenderers.
- 13) No material shall be issued by the department.
- 14) No Tender will be issued or submitted by postal means.
- 15) Issuance of Tender Documents does not mean that the party is considered qualified.
- 16) Conditional Tenders will not be accepted.
- 17) In case of any injury/accident it will be the responsibility of the Contractor to pay all legal dues their workers.

Area Manager (Plg.) Sijua Area

- c.c.to : All CGM/GMs Area- I to 12, Block-II, E/Jharia & W/Jharia.
- c.c.to : A.G.M / A.F.M., Sijua Area.
- c.c.to : Project Officers, all units of Sijua Area.
- c.c.to : Inspector CISF, Koyla Bhawan.
- c.c.to : Notice Board. Sijua Area.
- c.c.to : AM (System), Sijua AreaV with a request to display this NIT in BCCL website.

<u>Bill of Quantity for the work of "Making retaining wall and side support</u> <u>at travelling roadway 22L(E) VIII(A) seam under Mudidih Colliery"</u>

S1.	Particulars of the work	Unit of	Quantity	Rate	Amount
No.		Qnty.			(in Rs.)
<u>No.</u> 1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means over areas (exceeding 30 cm in depth, 1.5 sqm in width as well as 10 sqm on plan) including disposal of excavated earth lead up to 50 m and lift up to 1.5 m disposed earth to be leveled and neatly dressed. (Soft/Ordinary	Qnty. cum	10.80	152.60	<u>(in Rs.)</u> 1648.08
2	Rock). Brick work with FPS bricks of class designation 50 in foundation and plinth using cement mortar 1:6 (1cement : 6coarse sand).	cum	21.60	2008.13	43375.61
3	Brick work with FPS bricks of class designation 50 in superstructure using cement mortar 1:6 (1cement : 6coarse sand).	cum	47.43	2316.65	109878.71
4	12mm cement plaster of mix: 1:6 (1cement : 6fine sand).	sqm	120.00	67.65	8118.00
5	Cleaning for ready the site.	cum	29.92	33.55	1003.82
6	Carriage of materials by mannual labour				
	a) Bricks	per 1000 nos.	33134.00	79.53	2635.15
	b) Sand	Cum	40.66	42.61	1732.52
	c) Cement	Bag	146.00	1.23	180.16
				Total (Rs.)	1,68,572.05

Bill of Quantity for the work of "Construction of 11 nos. of ventilation stoppings at PST-2 seam Tetulmari Colliery."

a) Construction of ventilation stoppings at PST-2 seam v.s.no. 47A, 48A, 49A & 50A.

S1.	Particulars of the work	Unit of	Quantity	Rate	Amount
No.		Qnty.	- •		(in Rs.)
1	Debris Cleaning.	cum	6.240	103.40	645.21
2	Recess cutting.	cum	5.124	152.60	781.92
3	Brick work with FPS	cum	2.088	2007.00	4190.61
	bricks of class designation				
	50 in foundation and				
	plinth using cement				
	mortar 1:6 (1cement :				
	6coarse sand).				
4	Brick work with FPS	sqm	23.316	2137.95	49848.44
	bricks of class designation				
	50 in superstructure using				
	cement mortar 1:6				
	(1cement : 6coarse sand).				
5	12mm cement plaster of	sqm	67.600	67.65	4573.14
	mix: 1:6 (1cement : 6fine				
	sand).				
6	Loading unloading of	tub	64.000	12.67	810.88
	materials from tub.				
7	White washing with lime	sqm	67.600	6.75	456.30
	to give an even shade:				
	New work (three or more				
	coats).				
				Total (Rs.)	61,306.50

b) Construction of ventilation stoppings at PST-2 seam v.s.no. 45A, 46A, 48B, 49B & 50B.

S1.	Particulars of the work	Unit of	Quantity	Rate	Amount
No.		Qnty.			(in Rs.)
1	Debris Cleaning.	cum	10.608	103.40	1096.87
2	Recess cutting.	cum	12.570	152.60	1918.18

3	Brick work with FPS bricks of class designation 50 in foundation and plinth using cement mortar 1:6 (1cement : 6coarse sand).	cum	4.522	2007.00	9075.65
4	Brick work with FPS bricks of class designation 50 in superstructure using cement mortar 1:6 (1cement : 6coarse sand).	sqm	31.377	2137.95	67082.46
5	12mm cement plaster of mix: 1:6 (1cement : 6fine sand).	sqm	79.390	67.65	5370.73
6	White washing with lime to give an even shade: New work (three or more coats).	sqm	79.390	6.75	535.88
7	Loading unloading of materials from tub.	tub	80.000	12.67	1013.60
				Total (Rs.)	86,091.78

c) Construction of ventilation stoppings at PST-2 seam v.s.no. 51 &52

Sl.	Particulars of the work	Unit of	Quantity	Rate	Amount
No.		Qnty.	-		(in Rs.)
1	Debris Cleaning.	cum	3.000	103.40	310.20
2	Recess cutting.	cum	5.130	152.60	782.83
3	Brick work with FPS	cum	1.870	2007.00	3753.09
	bricks of class designation				
	50 in foundation and				
	plinth using cement				
	mortar 1:6 (1cement :				
	6coarse sand).				
4	Brick work with FPS	sqm	12.716	2137.9	27186.53
	bricks of class designation				
	50 in superstructure using				
	cement mortar 1:6				
	(1cement : 6coarse sand).				
5	12mm cement plaster of	sqm	32.640	67.65	2208.09
	mix: 1:6 (1cement : 6fine				
	sand).				

6	White washing with lime	sqm	32.640	6.75	220.32
	to give an even shade:				
	New work (three or more				
	coats).				
7	Loading unloading of	tub	32.000	12.67	405.44
	materials from tub.				
	·	-	•	$T_{a,b,a} 1 (D_{a,b})$	24.965.50

Total (Rs.) 34,865.50

Total = a + b +c = Rs.(61,306.50 +86,091.78 + 34,865.50) = Rs.1,82,263.78 = Rs.1,82,264.00 (Say)